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the title page of the answer-book by the candidate.

. Please check that this question paper contains 30 questions.
¢  Please write down'the Serlal‘Number of the question before attempting it.
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General Instructions :

(i) = All questions are compulsory.

(ii) This question paper consists of 30 questions divided into four sections —~ A, B, C
and D. ‘

(iii) Section A contains 6 questions of 1 mark each. Section B contains 6 questions of
2 marks each, Section C contains 10 questions of 3 marks each. Section D contains
8 questions of 4 marks each.

(iv) There is no overall choice. However, an internal choice has been provided in four
questions of 3 marks each and 3 questions of 4 marks each. You have to attempt only
one of the alternatives in all such questions.

(v). Use of calculator is not permitted.
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qus ~ R
SECTION - A

TEE 1 R 6T TAS T 1 3FH 8 |

Question numbers 1 to 6 carry 1 mark each, |

(cos? 87° ~5in2 23°) FI AR TR 7

What is the value of (cos? 67° — sin? 23°) 7



2. A OF FAEIR AT BT W~ 3R (d) = ~ 4 T HIGG G (a,) = 4 B, A 3 51 92w T 7@
HIRTT |

In an AP, if the common difference (d) = -4, and the seventh term (a,) is 4, then find the

first term.

RS A ABC
3. Rendfea ABC- APQRY, AR5 =32, M e ; por T A

arA ABC

. . AB 1
Given A ABC ~ APQR, if PQ =73 then find ar A POR -

4., B ABIA FUTY T A B T BIE W 66T FH1 9.9, (HCH R 2 ?

What is the HCF of smallest prime number and the smallest composite number ?

L

s g Px, ) 1 et fig & 0 T AR 1

Find the distance of a point P(x, y) from the origin.

6. AR x =3, Femmdim i 12 ~ 2kx - 6 = 0 1 TF &1 R, 9 k H1WH T R0 |

If x = 3 is one root of the quadratic equation x2 — 2kx — 6 = 0, then find the value ofk.

T -¢
SECTION - B

T AT 7 | 12 T TedF T 2 37 H1 R |

Question numbers 7 to 12 carry 2 marks each.

7. o Tl ot o o e goTern T | S o i a ik -
() e e 3
(i) ST e U TS F13TT 1 ERT 10 A7 |

Two different dice are tossed together. Find the probability :
(i) of getting a doublet:
(i) of getting a sum 10, of the numbers on the two dice.
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98 e g e el Ry P@, m), figat AQ, 3) T B(6, -3) I frem =t
TErave i i ST R | 376: m A [E BT |

Find the ratio in which P(4, m) divides the line segment joining the points A(2, 3) and
B(6, -3). Hence find m.

1 3K 100 % e i Gl F | Ageo T g Gt T | Wik W Hifae % 78
&

@ s¥w=R|

(i) 8 %_mw:é’f‘él _

An integer is chosen at random between 1 and 100. Find the probability that it is :
(1) divisible by 8.

(ii) not divisible by 8.

SR~ 1 #, ABCD T Ta & | x 7o y & W W i |

D x+y &
14 3t x-y
A 30 |t B
Fmfe - 1 |
In Fig. 1, ABCD is a rectangle. Find the values of x and y.
D x+y c
l4cm -
A 30cm B
Figc—l
3 3 T 8 OIS 1 AT T HIT |

Find the sum of first 8 multiples of 3.
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Given that \ﬁ is irrational, prove that (5 + 3\{5,) is an irrational number.

G —-¥
SECTION-C

WY AT 13 | 22 T Wi WA 3 AF 1 8 |
Question numbers 13 to 22 carry 3 marks each.

13, Ife A(=2, 1), B(a, 0), C(4, b) 7 D(J, 2)@%@1\3@%%&3% at a T
b % WIS 10 HIRT, | 3T: 56 T 1 yenadi ) samgat 7 e |

YT

afg A5, 7), B(- 4, -5), C(~1; - 6>ﬁ%nD(4.5>@aﬂaABcnawn&ﬁg%,m@§
ABCD T 8% 7Td iR |

If A(=2, 1), B(a, 0), C(4, b) and D(l 2) are the vertices of a pa.rallelogram ABCD, find
the values of a and b. Hence ﬁnd the lengths of its sides.”

OR

If A(-5, 7), B(-4, -5), C(-1, =6) and D(4, 5) are the vertices of a quadrilateral, find the
area of the quadrilateral ABCD.

14, R TEA (2% - 923 + 552 + 3x - 1) F A YF (2 +/3) T (2 -[3) ¥ 39 =it
Y% T i |

_ Find all zeroes of the polynomial (2x4 9% + 5x2 + 3x - 1) if two of its zeroes are

@++3)and 2-1/3).

15. 404 9T 96 91 4.9, (HCF) 991 9.9, (LCM) 719 Hife aen e &1 g $ifwg :
HCF x LCM =t € ¢ Sea1eil 1 oRee

Find HCF and LCM of 404 and 96 and verify that HCF X LCM = Product of the two
given numbers.
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maﬁrﬁm%@wﬁg%qﬂw@kﬁnﬁw-}@aﬁﬁmﬁﬂmﬁ?ﬂgl

Prove that the lengths of tangents drawn from an external point to a circle are equal.

g ifve fn e oot & © Yo T T T gEEE B W dewd, TS e w
ST T g gt 3 e < ST B R |

FY
7fe 2t wey Bl ¥ Saee wam B, A fig it 7y o8 e wetmem et 8 1

Prove that the area of an equilateral triangle described on one side of the square is equal
to half the area of the equilateral triangle described on one of its diagonal.

OR

If the area of two similar triangles are equal, prove that they are congruent.

T g H9+ Fuiftd g & 30 fiee % fyera & 5@ 1 1500 fRenfie it @@ w o
ey W dis g W Ige % o @ eoht s s = 100 6. e sree e o
YA ) T 9T T HIRA |

A plane left 30 minutes late than its scheduled time and in order to reach the destination

1500 km away in time, it had to increase its speed by 100 kmv/h from the usual speed.
Find its usual speed.

2 & wied F 280 St 1 A TH T T ¢

I (FR O H) | AW A EE
5-10 49
10—~ 15 133
15-20 63
20-25 15
25-30 6
30-35 7

35 -40 4
40 - 45 2
45-50 1
IR IAHE] o JTETH S HH T HINT |

6
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The table below shows the salaries of 280 persons :

Salary (In thousand 0O) | No. of Persons

5-10 49
1015 133
15-20 63
20-25 15
25-30 6
30-35 7
35-40 4
40-45 2

45 -50 1

Calculate the-median salary of the data.

A T 9 e 5 T RR W ok o1 e g o FreeTen By, o g e
St o arrepfir-2 o e R 1 3 e ot e 10 3R & SR smum R B 3.5 6
2, o 56 g 1 O T R g N |

2

L

, ST -2
gl
TS h TH o TP 6 FHR 6 & Kok smum 1= 24 dt qon Sk 3,5 M ¥ | wEwit
1 AT TG HINT | T 28 I R~ ZH 5 fore e e i snawaean } ¢

A wooden article was made by scooping out a hemisphere from each end qof a solid
cylinder, as shown in Fig. 2. If the height of the tylinder is 10 tm and its base is of ‘
radius 3.5 cm. Find the total surface area of the article.

i,

Fig. 2
OR
A heap of rice is in the form of a cone of base digmeter 24 m and height 3.5 m. Find
the volume of the rice. How much canvas cloth is required to just cover the heap ?

7 [P.T.0.
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HHTT-3 § rifeha W 7 §FBA T HING | T8 = ABCD F 9wt A, B, CAUI DH
¥, A B G 7§ 91 YNt AB, BC, CD 91 DA % wed forgant 57w P, Q, R A S
W ~2) % el ¥ Hredl & aut 71 1 Y= 12 91 2 | [r = 3.14 FfRvg

Find the area of the shaded region in Fig. 3, where arcs drawn with centres A, B, C
and D intersect in pairs at mid-points P, Q, R and S of the sides AB, BC, CD and DA
respectively of a square ABCD of side 12 cm. [Use &t = 3.14]

TR amn0=3% A (451n9-c059+1) 1 T R |

4sin8+cosB-1

U]

e tan 2A = cot (A — 18°),W2AW%W%,QAWHHWWI

4s5inB—-cosB+1
If4tan6=3.evaluate[4 sin 8 + cos G—IJ

OR

If tan 2A = cot (A - 18°), where 2A is an acute angle, find the value of A.
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SECTION-D

Y G623 T 30 9 TS W 4 FH H1 2 |

Question numbers 23 to 30 carry 4 marks each.

g~ae A 100 H S wre-ae & e ¥ T | 3 W E F FGTw HI7 30°
3 45° § | ARt WRE-E9E F T € 3N TH Te gI ek ik 0 &/, @ 21 et
9 H1 g T AR | (43 = 1,732 iR

As observed from the top of & 100 m high light house from the sea-level, the angles of
depression of two ships are 30° and 45°, If one ship is exactly behind the other on the

same side of the light house, find the distance between the two ships. [Use\ﬁ = 1757}

W% ¥ 5T % TR 6 T ATt  Trae aon Sudt ReARi & S wha: 10 St R
30 St B | 9f aredt ot Fed 24 A R, 4 WA P

() & T § T ST uTg ot Sfe o EAEd |
(i) ETER S H R SHTIEEsh ol i T8 o =T 7 (7 = 3,14 Fhivg)

The diameters of the lower and upper ends of a bucket in the form of a frustum of a
cone are 10 ¢cm and 30 cm respectively. If its height is 24 cm, find :

(i) The area of the metal sheet used to make the bucket.

(i) Why we should avoid the bucket made by ordinary plastic 7 [Use = 3.14]

G A Wy
WW:SIHA 2 sin” A _—

2c08’ A—-cos A

sinA—Zsin3A_t
2cos’A-cosA

Prove that : A,

9. [P.T.O.



26. P s w A 182 15 19 ~ 21 ) IRERaT £ 7@ Hfd

27.

(a2

T 1113 | i13=18 | 15=17 | [7=19 | 19=2] | 21 =23 | 2325
AR 3 6 9 13 f 5 4

L E
= s Tl W) & 50 =Rl 1 &fRes T e @

Fwmam@ad 100—120 | 120— 140 | 140—160 | 160—180 | 180 - 200
HHITRAT 6t ST 12 14 8 6 10

SRIF A 1 T FH IHR $ T TRERA] 927 § 9T 7R Shem dror SR |
The mean of the following distribution is 18. Find the frequency f of the class 19 - 21.

Class 11-13 1 13-15 | 15-17 | 17-19 | 1921 | 21-23—|2325"
Frequency 3 6 9 13 f 5 4

OR

The following distribution gives the daily income of 50 workers of a factory :

Daily Income (in ') | 100-120 120-140 | -140-160 | 160-180 | 180-200
Number of workers 12 14 3 6 10

Convert the distribution above to a less than type cumulative frequency distribution
and draw its ogive.

T Thet-aie forereht fRR ot & =1et 18 frr/aer R, 24 Rreindiet umr % witrge o &, a@t
0 U1 % e WA Y 3T 1 He A Wt R |-uwn ) =t wa i |

g

T et et aftaa T & 63 fodt o gft el R et 5w w72 fRf <t gt vm
Fhea =T ¥ 6 Rert/eer a1ftes & =1e ¥ 97 B R | I Amn B Q@ e ¥ 9f 3 6 e
&, T v ST =Irer S i |

A motor boat whose speed is 18 km/hr in still water takes 1hr more to go 24 km
upstream than to return downstream to the same spot. Find the speed of the stream.

OR

A train travels at a certain average speed for a distance of 63 km and then travels at a
distance of 72 km at an average speed of 6 km/hr more than its original speed, If it
takes 3 hours to complete total journey, what is the original average speed ?

g {1
Av



28. T QTG AT F TR AR W Y dwnedt w A 32 & e vEeh ik el wwm %
TR T <ff Y <1 Tl % TOMGE & S 7 : 15 7, WEAd e <R |

The sum of four consecutive numbers in an AP is 32 and the ratio of the product of the
first and the last term to the product of two middle terms is 7 : 15. Find the numbers.

. N
29. % Fya ABC wvge el BC = 6 31, AB =5 ¥t 3R LABC = 60° & | i wss By
ﬁmiﬁm,mﬁmamcﬁmwﬁﬁ%ﬁﬁs

Draw a triangle ABC with BC = 6 cm, AB = 5 cm and £ZABC = 60°. Then construct a

triangle whose sides are %_of the corresponding sides of the A ABC.

30.

4

wwaTg B ABC % 91 BC W @ fig D 38 e R % BDQ%BC% | forg Hifere s

o
Tog e 36, v e e 3 ool 1 =t S & ot 26 =it <6 A % SR g R |

In an equilateral A ABC, D is a point on side BC such that BD = %BC. Prove that
9(AD)? = 7(AB)?
OR

Prove that, in a right triangle, the square on the hypotenuse is equal to the sum of the
squares on the other two sides,

3013 11



